CAPITULO 3: La Derivada

tjerciciosy Propuestos 3.1

)a)25 b 23 021 d f(2)=2
1
' (3)==
2 1(3)=;
3)a) f(x)=3 b f(x)=-2 o f(x)=2x+2 d) f(x)=—-4x+1

o F(x)=6x* 1§ £()=-3(3x+2)7

tjercicios Propuestos 3.2

l)f'(1)=2 2) No existe 3) No existe 4a=6,b=-4
55a=3,b=-1 )a=c—-2 A b=3-2c A ceR

tjercicios Propuestos 3.3

1) a) f’(x)zgx’%+g—3eX
X

b) f'(x)=5x*+3x*+4x
o) f'(x)=2x+cosx(1-x—cosx)—senx(1+x—senx)

x?—1 cosx(x’+1)

9 7= x?senx xsen’x
o 1(x)= e [(1+ x)((ss;nxx:ll))z—xcosx]
f) f’(x):xieX (x+2)Inx+1]

2) y=4x+1

3) y=—3x+%

735

8) 50!

9

E!er'CbeOé/ Pro_pu%toy 3.4

L a) f'(x):#ﬁu b) f'(x):ﬁ

" "\ cos2x cos? 2x
o\ 2X o\ 8
f) f(X)_(x+1)ln(x+l) 9 f(x)= x(x2—4)2

2
. f’(x)—:{ senx J [cosxc052x+25enxsen2xj



_ (sin 4X) e\/1+cos2 2x

3. (fogf() =

\/1+cos2 2X
4. a)4 b) -8 c)2 d)-10 e) -6
5 16

tjercicioy Propuestoy 3.5

1 a) % cos(xz)]: 48xzsin(x2)+ (16x4 —12)cos(x2)

d? | xsen?(x) | _ 2z(sin 27x + mxcos 27x)
dx?|  1+x L+x)p

dn
) — xe* |= ne* + xe*

dx
5 5 (n!)
D" — |=
R [4—Xj (4—x)t
1+x 2(nt) s[1+x]  2(301)
e) DX”[E} :W entonces Dy [m} = (1—x)31

n ) L . .
) j—n[xsin - {( 1)2 "(nsinx+xcosx); si n es impar entonces
X

(-1)z" (ncosx—xsinx) ; sines par

3
—z [xsinnx] = ~85sin x— xcos x

d dz( 1 j 2(1-2x)
2 —|x—| —||=—=2
dx| dx?(1+x (1+x)*
3. a,(n!)
4. p(x)=2x3—3x2+3x—1

tjercicioy Propuestoy 3.6

. y . y
1 =-3= b) V=—
By X )y x(y+1)
Zexy ;
9 y--—— Q) y- e
xye” +1 secytany +sec’y —x
2y
&) y=——F—7—
x(2+\/§)
3. y=-3x+2 4 y=x-2 5.y =—X+2
6.y =—X+2 7.x=0 8. y=3x
48xy? —ox* 1
9. (1,1 10 = 11. y =
o 64y> g 3x%y%




tjercicioy Propuestoy 3.7

t+1
L a) y'=tan(t) b) y':-(z—)
e +1
o4 _ _3y,. 4
2. y=x++ra 3. y=3x-1 4y =X+
5.y =5x 6.a) Yy '=cost, b) y’'= cost

tjercicioy Propuestoy 3.8

1. y=2x-2 2. y:—\/§x+8 3.y:—\/§x+2x/§

_3 [2_123+3(, 3
4y 12—3\6(X )

2

tjercicios Propuestos 3.9
1 %6 2. % 3, % 4 3

5. X-5y+5=0 6. Xx—11y-9=0 7. 2ax+y—2a(a+1):0 8 3
9.a) y'=arcsinx+ 1 b) y'= arctg(%)
1-x X2 +1
g 4 . arctg(x3+senx) 3x? + cos X
c) y:ﬁ d y=e _ OX +COSX
cosx 1+ (x3 + senx)2

‘E!’eroéa’oy Pro_puestoy 3.10
5,3 2 3ty 3
,_ Sec’X 3/tgx +1{5th+ 1  secx N 3 x“cscx ctgx }

3
x/cscx3—4 3senx+cosx 2 c¢scxS -4

3.2 3
b) y= 4\/X30054X—1 X {%—tg4x—2 x__20+15 }
X

(4x—x3)5 31-x%  4x+x3

2

9 y= Z(lel) ! arcsen[eix;j(‘/l— o2¢2 . S(Xi 2) Z(i 3 {%/(X + 2)2X ;/; +3P arcse"[exz ﬂ

La)y

d) y=x3" 3’{In3ln X +1}
X

e) y= x”nx[ﬂ+ In n}
X

L2
f) y=y “Lm;x{lnw} + 2arctan? xsin xcosx 1 - 1
arccos
1+x arcsin[sin2 xjyll— sin4 X arccos[cos2 x]y/l— cos4 X
. : ec X . 2sec xe*
9 y= (arcsm(l+ ezx))s sec xtan x In(arcsm£l+ ezx))+
arcsin(1+ ezx)\/— (2 + ezx)

b y= [In(sin3x)]ar°ta”(cossx) 3c0s3x arctan(cos3x) 3sin 3x|n(ln(sin 3x))
y= In(sin 3x)sin 3x 1+ cos? 3x

_ 2x(x +y)- y(x2 + y2)
(x+ y){x2 + yz)ln(x +y)+ y(x2 + yz)— 2y(x+y)

) y= (u xz)x{ln(lJr x2)+ zxzz}

)y

1+X



2. (In2)x-y+1=0

3. x+y-2=0
4.14
Misceldneos

l.a)V b) vV c)F dV eV
v Qv hv ) F DF
k) F I)F m)V n)F oV
p) F qF NF s)F )V
N v) F w)F

cosy - 2xy* + 2xsin(x2 + yz);cos(xzwz)
2X2y_2y3|n(xz + yZ%COS(X2+y2)+ Xsin y

b) y'= (XZ +l)n X|:ﬂx2_+l)+ 2xIn X:|

X X2 +1

2.8) y'=

. cos(lnz(cos X + e3x))ln(cos X+ e3XX3e3X —sin x)

7 \/sin(lnz(cosx+e3x))(cosx+e3x)
, 1
9 y-
2§+ yzyjl—yzarctani

- IS e X* X
e) y=x%|eXInx+— [+e* x*(Inx+1)
X

) y= cos\/x+\/; 3 (2&+1)sin\/x+\/;
2‘/; 4x/x+\/;

9 y=—

4-9x?
h)y,_\/x2+2§/1+arctanx X +1( 1 Y1 1 ¢
4/1+eX x?+2 3 1+arctanx}1+x2 4| 14e*

. 2| 2X .
) y'=(sin3x)"" [1 - In(sin3x)+3arctan x* cotan3x}
+X
) y= 1 , 2arctanx garctan” x
xx/l—lnzx 1+x°
. x(y-x)
WY="g
2X°+ Xy +Yy
N V= tanx( 2 X X 2 x)
) y'=e%"X(sec? xtane* +e*sec?e
2_y
e XXty
In(x+y)+ y
X+y

3. 2F(x)f(x)
4, a=2cAb=1And=c+1laceR

5. y=-2x+243
5. [Du(oe =2

T.y=X A y=—X
8. y=-6x+5



9. f esderivable en (—l,O)u (O,l)u (1,2)
10 k=-8vk=3
dy__ 1-t?
ax®
3
dx o1

3,

11.

13.
14.

s}
|
|

=-4,c=1

Nl wl

15.

> >
+ |
Njw win T

o < <
Il

2y 5
1 = Foost —sineP
dx?  e'(cost —sint)’

7 W2,
dx

18. (1) :2—27

3
19.y = X—Za(%j

20.a=c+1lab=1AceR
21y =x+1
22. Yy =6x-6
_ 3

2. y= —%x +3
24. y=3x-1
25.De F(x) tenemos F"(x) = cosx f (cosx)—sin?x f'(cosx)

ycomo  F’(~x) = cos(~ x) f(cos(~ x))—sin?(~ x) f*(cos(- x)) = F(x)

Portanto F"(X) es PAR

26. k =7

. d*° [1—x}: 2(50!)
dxO[1+x] @+ x)pPt

28. y=-X+3

2. y=-x-1+

4

30. [% f ‘1}(4) -1

15




